RRB NTPC[TM] Grand Test-3

Section 1
Q.1) 855 20 Jo@080d HBSAG A6?

[A] B3R 19356° 53R 085, 1r8Raf @R Ba°d
[B] 06 &8 $0585m0 6

[C] &2 2388065 &DBrA0D Eenardd

[D] 686 0 8—9 Sriytarsl 6ol ©b HE erdoo

Q.2) > (s Ao 5 Kok QT Eden €3 @Qoé’s 10 S8y 08redre JHoDS
35080050 J0e0008.

Student1 Student? Studentd Studentd Studenth

38, 58 DeesHen OB Srdne, 4, 10 Jurglhen SPoBS Hrdye 508 Qo8 EH?
[A] 2
[B] 1
[C]3
[D] 4

12

10

2o N & ¢ @

Q.3) &S SosEreny JSeae Hoserenre &0y &HESe0?
[A] 83



|B| 3~8%
[C] &5
[D] cSomealy

Q4)N:38::3:57 wawad N densd?
[A]2/3

[B] 1/3

[C] 3

[D] 2

Q.5) A %09 B &8 T8mR8 Kot 50 8.8 SK08° 38 S¥a oben Hto&ob.
Kot 5 8.80. 8% SK508° 37 Jod $8yd Jdachos® B 00z 36°50,?

[A] 5 doaren

[B] 15 doaren
[C] 50 Qoren
[D] 30 D%npes

Q.6) x = 7 - 4V3e0nd ensd Noe?

i+

[A] 0 v

[B] 1
[C]4
[D] -4

Q.7) PSSR S0 éé&)@soeﬁ% IO @9@83"&@26 NaY
[A] Kore



|B| a0
[C] 658
[D] =38

Q.-8) er8ERE0S® whBorr HodS Doty HE?
[A] oorhen

[B] A0

[C] &y

[D] %8

Q.9) 80b & $5K580S® worrdo Hevsi  AYowrD?
[A] 50828 05

[B] &y

[C] 8°%

[D] 2088

Q.10) 8obarEBe® JrEraryd)y HoB0E.
D010, 2,08, KR, Pood

[A] D& o Soosven & K.

[B] 90,0638 &5nen Gotrom

[C] 2 >83° &8ren 8

[D] & 2000080 Srien @oérh

Q11) 5 ¢ ,y=1e08 x Jend Jod?
[A] 4

T+3



|B| -4
[C] 3/2
[D] 4/3

Q.12) 8o KE8eEos® Su8 amE D0 DLHS?
[A] Do 8
[B] D600 &
[C] DeodoS
[D] 96508 =

Q.13) 208 H808BeS® +, x en 2.8 IEES ﬁgé 0°80) 20A8 9+5+10-23x2
Qe D0es?

[A] 3
[B] 2
[C] -3
[D] -5

Q.14) A wire is in the shape of a rectangle. Its length is 42.7m and breadth is
21.8m. If the same wire is re-bent in the shape of a square, what will be the
measure of the side of the square?

2.8 &5 égzﬁéaé@b@cﬁo@’s G080, T PED 42.78, Ikeny 21.8 . od &K
SHEFBE0SE L3018 ST eheso s od?

[A] 16.125
[B] 32.25
[C] 11.35
[D] 22.70



Q.15) 2015 K5¥ye8E B3 (P80 grEERE0S® HOHF DS K80 ?
[A] 3%

[B] &8

| C] & jmeerE

[D] 255

Q.16) 2015 FPaS HF 2088 (Er80 @808 HE0SS BE0?
[A] ©&ero&

[B] etrerS

[C] s

[ D] Soeseerol

Q.17) D) g0 )& (FBogP0n?
[A] oS

[B] @30

[C] otoeesSEds

[D] Qo&’oro

Q-18) 8ob 1) FESV VT8’ K0S Hrreih KON TES° DY TR
DoDE BEH0E.

[A] ORIN
[B] NADS
[C] POPCER
[D] DLOG



Instruction: 808 60 &8 EERES™ ATgdhe BaPod Jrddod. O wrrdore
20N DB 0B SLTGPToe) B0 .

o &'F"f.} E’JE
o) e ﬁacﬁt&gé @
14
N

a’:aﬂgr:,

Mercury Mars

Q.19) &8 ({0, el (Pl sFHa dreghe IR dod?
[A]7/5

[B] 7/8

[C]7/6

[D] 14/13

Instruction: 808 Do &8 S5KBS 5800 P S0k & egrdore
AW ()08 JXTTPIren 808 .

o Jupiter @? &b
B0 _—
14 \ 1_:

Mercury Mars

Q.20) 3)6?2756, 2372835 aggo“aé &méégm éoaagé’s 2550?
[A] 6

[B] 8

[C] 10

[D] 12



Instruction: 808 60 &8 EERES™ ATgdhe BaPod Jrddod. O wrrdore
AN (8108 JLTPTren 808 .

Q-21) &8, e85 (isBe B%Dde Qg Sogy oB?
[A] 45
[B] 29
[C] 26
[D] 13

Q-22) Grote Toesied D¢ ?
[A] S

| B] srodrer

[C] eogese

[D] ev8ore

Q-23) Hoe0erd 8% ©0& dE3?
[A] 8gen 33 8¢

[B] theioe8 ¢

[C] 95556° 3553 o8 s &¢
[D] 83 Soises 8%



Q.24) X3S 38 ©od

[A] 858 0 Rerd &5 o8 ($io

[B] $&& Rerd &% a8 o

[C] &6 a6 28D 22BAS @S0 a8 Ko

[D] arites RS $5556° ©H8FB0DS & DE S0 ({50

Q-25) 800 ES° ©HBBOR B 5B QB?
[A] OS X

[B] Windows 7

[C] DOS

[D] C++

Q.26) 12, 24, 48, 60, 960&° (‘Oégcﬁom PRSI S 08w 80 Sogy do&?
[A] 10000
[B] 10024
[C] 10160
[D] 10080

Q.27) 65 B2.80. 30 B2.80. Foden &) a8 K0S 52818 KD, =By 1 5.8, wdhy &e.
45 9ons, S0B0 By D0 ?

[A] 877.50
[B] 87750
[C] 87.75
[D] 8775



Q-28) 33D oS”® erfOAr SoEuenth @808 Gl DES) e ?
[A] 2988

|B] ©&88seen

[C] cSoederciredsy

[D] ©&e:580

Q-29) Tesim, JFme H50HKne B S : 2. 78 Hehnw o 63 . 9 QY Soeed
°0 A0 QS os?

[A] 52
[B] 2:1
[C] 3:2
[D] 4:3

Q.30) &8 hseermrdntd 90 T8k . 1608 o8 w8t 20% SHa~th. o8tk
Q) B B, 968 @& 20% o TPoHEerH?

[A] 45
[B] 36
[C] 54
[D] 28

Q-31) 8B e @0 DHE3?
[A] Q) Beare S0

[B] 420, S5gso £ $850
[C] 50289 083090 K50
[D] &8 55305 5,



Instruction: &% 220&Hen SKI HEB0, 895, Hob, HE), &S, D8 &8 §oaao
<P BETPISES O Er8)R GIom. §08 INAIPY WEPEorT SArEPTPe
oPOH0&.

1. 308, H5068 HAEIIS &od.

2. 508, maE S K85 H5)5 &8 8.

3. o“qcfoﬁ 9E0S° B8\ &) &oéﬁ:@@f B0 BJ0 HodE AHH™ Sob.
Q.-32) 8  22:0HHHB A DS God?

[A] 308

[B] %08

[C] o

[D] &5,

Instruction: & 220&Hen SHIM HEBO, 8, Hod, HE), M, 8 2.8 éoaao
S BEPISES O B8R 60w, 08 IRAIPY WEPEorT SArEPTPe
orC00&.

1. 3h8, H008 HAJHS God.

2. 508, maE S 85 H5)5 &8 8.

3. o“qcﬁaeﬁ BisilefeIoN B8 &) &oé)é)éf D0 IO HoBE AHBHT &od.
Q.33) 8ob T3S NAH esoHHe 58583 esorom.

[A] Do, 08

[B] %06, &5

[C] 8, &35,

[D] &3, %8,



Instruction: &% 220&Hen SKI HEB0, 895, Hob, HE), &S, D8 &8 §oaao
<P BETPISES O Er8)R GIom. §08 INAIPY WEPEorT SArEPTPe
oPOH0&.

1. 308, H5068 HAEIIS &od.

2. 508, maE S K85 H5)5 &8 8.

3. o“qcfoﬁ 9E0S° B8\ &) &oéﬁ:@@f B0 BJ0 HodE AHH™ Sob.
Q.34) 8ob BS® O 2oHD) HoBE KK FHY &0eN0d.

[A] 308

[B] &3

[C] %5,

[D] 3580

Q.35) $ed =088 AXB?

[A] er88 Hargd So°8 TPoAHS
[B] 8 Eorsethes

[C] &8¢ Erosetned

[D] éaaéf: TPOHADR

Q.36) 808 ES® doh Msd 6 BIN Leoedd?
[A] 3638 B8)&

[B] 365°5 3 8

Cl3eS e

[D] g@*ﬁ%@ﬁ

Q.37) Trenih esde Hrren 8o edhod. HJyorr &) T HBoKod.



|A] 655 wggbe‘%éo — 3008 237d)
[B] 505 a088%$y$0 — AEST eomd)
o [ o~
[C] 405 88%s b0 — 858 et
o o~
[D] 255 088850 — Dexb esmd)
o o

Q.38) o°ed 808 SR 808 HF)X) 8 srrdorr Do EISOY

1. &0t 88° 58 & 40 00D 45 K55 &0b.

2. @8 88° &8 &, 80 200D 90 g &od.

3. o 8 D68 &r. 23

230D B SEREore 89 Setd H5Hen S8 508 & oSt S otn0d.

[A] S heearrdineh ©B8S° ity &r. 22.50, Erg 6. 82 88° T, o HebS
8. 24 SPNS @myEei.

[B] H thseearetinth g e98S° 6. 21, 8 &6 Jren &, 12.5, ©ofiees &r. 22
ast DR BI0YB°LD.

[C] O thsreamrtord o OB Jreks &r. 11.50, ©f 88° wlre &r. 21, oo 8. 43
ast DR 0B

[D] P cheeearrtinth @g8&° erdotnih &r. 23.5, @rg &r. 85 8&°, dreo O8I 8. 23%
B30I

Q-39) arE8RE wiSyHRE D0.DR. PEOTES @ VBB0S® Sl FE DRoTEH?
[A] £ D0

[B] 358 Q%0

[C] 88 D0

[D] Sensd D50

Q.40) DRy DOZS® H0 S S8 808 DeForre Gy, Hifen B85 08



41, 39, 52, 48, 54, 62, 46, 52, 40, 96, 42, 40, 98, 60, 52
[A] 54.8
[B] 58.4
[C] 53.4
[D] 53.8

Q41) (=4.6)x(~4.6)+(~4.6+0.6) &r§;560508&.
[A] -5.29

[B] -0.529

[C] -4.06

[D] 5.01

Q.42) gr38RE 53 Teado )& SwOIB?
[A] $7389

[B] &0z

[C] =8

[D] e

Q.43) 4%2 . 50 §8 &r. 60% wand 1 abed HJo $8 Jos?
[A] 15 %
[B] 13%
[C] 14%
[D] 13 %



Q-44) ROOG> ROO 1610 a3350S° 2B (1530 TP A o (13°en
BLUIHETHOD BT ?

[A] 2
[B] 3
[C] 4
[D]'5

Q45) D> O ToHoS® Ko ©dod?
[A] $8y020me

[B] 06555038

[C] &8

[D] oraees

Q.46) X = 24, BE = 7 won@ RING = ?
[A] 41
[B] 47
[C] 48
[D] 49

Q-47) Botd 5 2 Joggw ©R0 399 BN wotHE® EVY Soag H6?
[A] 17
[B] 19
[C] 21
[D] 23



Q48) 8B E:H SPEDS Tew D Sotd V& Wy $tHiK0H?
[A] 83e58080 — erTednee

[B] &eriid — SO

[C] &eweisE — Sesosied

[D] 85550850 — $msad

Q.49) Trews0roS® 68 8888 drEro & B Trersorio Ko §arowd?
[A] ©300se

[B] 8k

[C] ooro&

[D] e300

Q.50) 2DBHS 0BG @0 HWE?
[A] SPoé] ©ochR])

[B] 2, @dFore ¢ot o e
[C] 58 208

[D] &8 5535 Hio

Q.51) 25 B8y )30 20 Hd e @ FeB SP50 wond ool FE0 Jod?
[A] 20%

[B] 33%

[C] 25%

[D] 12.5%



Q.52) a8 Pgard S50 8Ky $58 o8 20% 8 Sw@od S% G0 3 S
oq ers FB0?

[A] 12%
[B] 14%
[C] 15%
[D] 18%

Q.53) B8 ©0&?

[A] 2888508 &8)8 wand HTrred” rEEREos" S SarhiRED
[B] 9838 &&)%e&° 8o $cird T3

[C] 68 &) S5rBHBAHTE SDRBRACAD SBer

[D] 5208 68 ScsH TS B8H Bowe

Q.54) 808 BS® w8 $585° 267B D&?
[A] QO AOBDHEoN

[B] despReh §°%6%sron

[C] £8%¢rQ) eded@on

[D] §8erS, £ 8% @ron

Q.55) Learon Koo erBcdH Besby D8)& God?
NED

|B] 8

[C] el

| D] eodcsr



Q.56) 8. 7500 esien P02 12% $& Bt S5 2 H0. 4 Jood iy SE58
KRS Dod?

[A] 2284
[B] 2176
[C] 2097
[D] 2235

Instruction: 80& o“)éééeﬁ’s QSentH é)mgt%))m 6 ég%@j SOOI 5°80) &0 BB, &)
S0 808 DB JSrTeed TPdDos.

D |Emhy | B | W0 | ergd 2008 | 8rod
Hore |75 80 65 | es |72 |e5
R0, 80 85 75 | 65 |70 |70
Ber, |82 88 70 | 69 |71 70
Qe 78 87 65 70 |75 74

Q.57) @i, 886 Durghen o8 FTo0 Srtnen ay?
[A] 68.75 , 68

[B] 70.5 , 69

[C] 68, 68.75

[D] 68.75,68.5

Instruction: o0& B/Jégéés LeniH 8)&5056%3&» 6 $BLHSE FobS 5800 BB, &)

& QO ™

S0 808 DB Jdrreaeey TPdHod.



Dagp |dhy | R | W0 | ergd 8008 | 8rod
Hore |75 80 65 | es |72 |e5
R0, 80 85 75 | 65 |70 |70
8er, |82 88 70 | 69 |71 70
e 78 87 65 70 |75 74

Q.58) 3y S Bo& DRy S8 I JEH?
[A] 15
[B] 20
[C] 25
[D] 40

Instruction: 808 HES® Seorddd ergoen 6 JPEHSE” oS Srdyen 8Ty, ToE
oS0 808 DB SIrreaeed TrdHod.

Doegp |dh | R | W0 | argd 2008 | 8rod
Ho%re |75 80 65 | es |72 |65
R0, 80 85 75 | 65 |70 |70
Ber, |82 88 70 | 69 |71 70
e 78 87 65 70 |75 74

Q-59) 2508 B Koy en e yon?
[A] $o8rd

[B] &y

[C] 8o



BIES

Q-60) cosO+ sinB=m, secO+ cosecO=n ©ond m,/n Yend?
[A] 1

|B] sin6 cosb

[C] secH cosech

[D] cot tan6

Q.61) M, N&&rse, 0, Ndo&, P, M 0@ @ond, N , P &5 Soeogo?
[A] Wife

[B] Husband

[C] Father

[D] Mother

Q.62) 3arE BEedd @0 dE3?
[A] &8 08

[B] £0881058® 3¢G (@003 st
[C] &8 &derS

[D] &8 5535 otots Dikeibo

Q.63) X, Y, Zew 502 &8 50 18 e $r0ueh. X af)@ & 5 36 &erd® Y 60
Fere® I8 TR, Z 2B @ HAI Q) e 5300 BH?

[A] 78 &%een
[B] 90 &eexn
[C] 96 &eren



|D] 114 &%

Q.64) §wo8 ToarrEd DWE?
[A] Feos®

[B] S°§Oé

[C] 220058058 &8

[D] evdooegrsdSo

aes) 1m0 1He0sB % FeBosod.

14+cosd sin g

[A] tan 6

[B] cot 6

2

sin &

2

cosd

[C]

(D]

Q.66) HosBo EFOH TR0 HB?
[A] e $S5HES

[B] 85588,

[C] oe 50058,5

[D] 83300 oo

Q.67) 19988° grSe® ardsido A8LroN weaddEe S8 hikH de3?
[A] 6955848 &=8 6,

[B] 85858 Desd®d

[C] 955855 8



|D| 05845 SarS

Q.68) 80 18 80(A), 5080 (R) eaeyom.

28180 (A): 20A HHen, 4P w808 I& HBTS° 8 sotron.
s8e0(R): & @*Do@e’if 6OG HHOD 3E) e 60D

385 Q) DoHE ol

[A] A, R Botie $850. A% R £33 956%.

[B] A, R 3otk 5850, A% R £33 D556 6.

[C] AR50, R @0d&so

[D] A, B 3w edand.

Q.69) @0 ger VS JHH?
[A] er8805 Trasdoh arabdoTeen
[B] &§88=een0 arenseoes

[C] $5%0 $0ASs°063

[D] ar880h o8ree D@00

Q.70) Bo&o8e JoayS* @o8e Indo 9. & Somgd 27 E0HT Hogye° wosen
FOBHTE 86008 & Hogg?

[A] 45
[B] 36
[C] 18
[D] 27

Q.71) 808 BBSE° ? FK0S® TS Howy?



13,14, 18,27,7,68,104......
[A] 36
[B] 41
[C] 43
[D] 54

Q.72) S 3D Gs, PEHE er8y s, 5 HEFTS® eéh &85’ © 88 v
wond &35 RFEDE 88 9 DHH08.

[A] 8

[B] 52

[C] mecesog
[D] %58

Q.73) &8 @ehe0S® a8 80 55°, MADY o Sewe AYB 9: 16 wond & Sewpen.
[A] 65, 115

[B] 90, 160

[C] 55,165

[D] 45, 80

Q.74) & 3O DFHH HFtEe; ol Dgret Aeedh?
[A] ooz 28RS

[B] ooso 8085

[C] 20.98. &R

[D] o0& &0



Q.75) 80d D Ao & 8558 stedird) JrrdNod. @8l wdo errddo &r.360000
@008 308 T80S° 08 errasrd) 880508

ath week, 45°
15t week, 90"
1st week
3rd week, 105" ' 0 2nd week
Na3rd week
O 4ath week
" 2nd week, 120°

[A] Rs.90,000
[B] Rs.120,000
[C] Rs.45,000
[D] Rs.105,000

Q.76) HOUSES GNYDR &0, GIARYX & diorr $oedaedy?
[A] CHGXZ
[B] CHEWZ
[C] CHGXX
[D] CHEWX

Q.77) ‘BBgand e30HB’ ©90& ©30?
@

[A] “Truth alone triumphs"

B3 Descho Q0O

[B] “True Faith is Rare"

Q220 DB°I0 9D

[C] “Truth is Divine"



&850 @08 a8 Jo205HoRok
D] “Truth is a Treasure'
&850 VB 08

Q.78) X7 & BEH Traed?
[A] £°058

[B] 0865

[C] $»ddes

[D] o888

Q.79) a3 a8 0D a8l JodE VaHod.
30000 I8

[A] &%: doed

[B] @5 : Bgdo

[C] 50: o

[D] Seorh: HIE

Q-80) 8odS &8 (B35S, Botd Aorieeen &I00.

B8 2,88 dDeEeR)y KEHTeI8 Soren SrgEyE SrEroh S Q.
Nslepcoonk

L. &80 £Do Q¥ o

IT. 080 2.8 DB

B B0 ©90K005 ATrEeae HBoW0s.

[A] dzp8es —T simEadh 5008508

[B] doedes — 11 K@D 90058008,



|C] EOq;iSea—I, chcﬁsa— IT ©03058e0.
[D] drdea—1, dordea— 11 0050055

Q-81) Hy0: 3»E’e:S womd KOH?
[A] 8%erS

[B] &°:y5%

[C] Sreraraho

[D] &3S

a8y 218 %0 Kmé&éaoém

[A] 45/%6 >
[B] 13/45
[C] 26,/45
[D] 45/13

Q-83) 0°C &Pii8 PSS S8 Srgym
[A] 100°F

[B] 30°F

[C] 34°F

[D] 32°F

Q.84) SHELFZ> FURY S &»93 ZEBRA 8°6?
[A] NRMEO
[B] MRNEO



|C] NROEM
[D] MROEN

Q-85) 20 Frrdn HF°08 Fysadh KOs Ttn Qod?(H)owdes /Aares)
[A] 60 - 100

[B] 50 - 80

[C] 120 - 180

[D] 75 - 120

Q.86) Q B0& B ®went. Q BBew 5080 P Er& C. D8 P 8. wond BE P
DHHHOB.

[A] S575
[B] ©:53
[C] 055
DI

Q.87) &8 BB Sy DB 0 Ko8eef?
[A] @Zofars

[B] 2208° Serrd®d

[C] oesise 2

[D] shose eroesS

Q.88) &rhih H5%en 96 838w 16 Bars® Soirdh T2 8 08 Hken 4 B 2y
8880k S0 B,

[A] 16
[B] 28



IC] 36
[D] 32

Q-89) &8 @ene B0 a:5X0 IuS°18,58,509% aenein TN, Do s’
7623 %03 enyoky S6irHEY S0 JoS® Dy E8E Hoid pHd Jo 83 25,838
B e oy SCTPHTVY F0Eo Frtd JoeB S0 @and ened I?

[A] 55,57, 312
[B] 59, 83, 245
[C] 55. 64, 935
[D] 56, 08, 988

Q.90) 808 ae&e® Eﬁq;s"@oés 2BHHDBI Ho&H
[A] Soso®

[B] &&

[C] 5508 H0E

[D] 3

Q.91) 8o HEeaSen, ng:éeaeD SiaNet)

2BeSen:

1) KoB8R*F0 o SrHRE add DB &8

2) SPKE 28 TRgTe 88 BHE08.
Nieyel:clos)

L. 98y &8 &Ko

I1. 50880 @885 wrodk0b.

2303 HELI00 @d80T Neyeleipvlelelnlelap



| A] Qe — £ ©36%208.
[B] doedes — II sm@adh e5008:508.
[C] depdea—L, Qoedes— 1T exdosd0m.
[D] derdea—1, dopdea— 11 050055

Q.92) Mango, lemon amd melon are fruitsfo 439516 &, Mango and lemon
are Yellowd 04396 o, Melon is green & 857 e K)ovz‘ﬁ)'é melon 8§ H5H%.

[A]'5
[B] 8
[C] 7
[D] d8:DosS0.

Q.93) ? PI0S° GordH?
AlIQ, BJR, CKS, DLT, 7, ......
[A] ENU

[B] EMV

[C] ENV

[D] EMU

Q.94 ) Soed, Rt 2.8 (5;;260 L2o0d) zé?gé’ééé &%e‘f $&HS Tm/s, Sm/s Sreod®
HH @Fodometh. 420w SToE TOEER Jod ErEoS® Gotrd.

[A] 30.24 km
[B] 504 km
[C] 8.4 km
[D] 69.5 km



Q.95) B30 aredeyy SoPS” 1645 $gfs d¥orm BOIB?
[A] 20599,

|B] 22605

[C] ]

[D] &30S

: : I @ 2 00.0% 8% ENS° & & B e © NG
Q.96) 85000 eben 3 2 Ho.0% 8% H6 Tend® ©dl; SEHG HOKD DB © e
St Jod ?

[A] 45
[B] 32
[C] 57
[D] 84

Q.97) 12{26-(2+5x(6-3)}] Lo JHoB0&.
[A] 2
[B] 3
[C] 7
[D] 8

Q.98) wend 42 D8 e 280 D deth Ko s’ Jodreod ARy dIed ©HIB0.
[A] 15

[B] 1500

[C] 150

[D] 300



Q.99) Botdh B KOJowge ... 144 o8 & Jogsen S d3)?
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RRB NTPC[TM] Grand Test-3
Explanations

Section 1

Q.1) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.2) Explanation:
3, 58 dgd &Pobd drdnye dwdo = 10 +7 = 17

4,15 S)még PO St e Swgo = 6 + 8 = 14
Bty gy e = 17 -14 = 3

Q.3) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.4) Explanation:
3x19=157

98 dSore
%: N

Q.5) Explanation:
S50 = S50 x S0

8.8

= 5Elx£= 275

2095 3K0 = 5 &.8./%0.
28RS Soeed S0



=50+ 5=558%/ro.

5 5 Boéen — 5 Koren = 30 Qdoareen

Q.6) Explanation:

x =7 - 4\3

Jr=yT-43 =7-2J4x3

=J7- 2412
12=4x3
4+3=7

=J7-2 2 =a-3=2- 3

1 1 &

= -5
2+ %@‘I w80 Tahe
1 2443

NN YOI 23

2443 2443
23 4-3 ahs

ﬁ+%:2—«.§+2+\r§:4

Q.7) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.8) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.9) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.10) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.11) Explanation:

2x-1

+3
Se0Ed
(Vo]

W=
y:

2x—1

r+3 B

2x - 1=x+3
341

2X - X

x=4

Q.12) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.13) Explanation:
9+5x10-23+2
BODMAS dc%&00 Hses0o
1.8 x 10 — 23+2
18-23+2=-3

Q.14) Explanation:
ég S0 PEH = 42.7 &».

~



Ieny = 21.8 Q.

58 SHBRo DHepFesd
= 2(PED + Ien))

= 2(42.7+21.8)

= 2(64.5)

=129 .

BAD SHBH eB0E Sr0)B SEBEH HipSes = 129 d.

4 x gheo = 129 &.
.

&he0
= % = 3205

Q.15) Explanation:

Multiple Choice Type Question:

Q.16) Explanation:

Multiple Choice Type Question:

Q.17) Explanation:

Multiple Choice Type Question:

Q.18) Explanation:

Multiple Choice Type Question:

Q.19) Explanation:

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

** Explanation Not Available **

8500 &8y (fsro BkHG duegdhen = 14
) (§sSen aHHE duegdhen = 13

@gaa)ei% _ 14

-~
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Q.20) Explanation:

208 BRHTTD = 16
D)0 aHHET = 10
550 =16-10=6

Q.21) Explanation:
556y, e=81605 aFHa Deeghe Dogy = 16 + 14 +12-13
=42-13 =29

Q.22) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.23) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.24) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.25) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.26) Explanation:

5 @08 A Jogyg = 10,000
12, 24, 48, 60, 96e E.3.15.
12] 12, 24, 48, 60, 96
211, 2.4 5.8




201, 1, 2. 5 4

1, 1, 1, 5,2
EdiH. =12 x2x2 x5 x2 =480
10,0005 4808&° grA%) 30 400 $:008.
10,000+480 —400 = 10,080
0% Ko = 10,080

Q.27) Explanation:
K685 Boden = 65 BH.8.x 30 2d.&.

S0 = L) x 3e5eN)

1 385% et ) = &r. 45
19.5 .80 0% edhy 9ty = 19.5 x 45 = 877.50

_ 6530 1950 .00,

Q.28) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.29) Explanation:

orsdm, APswe HHdne s
=5:2

N0 SIS0

= 5%, 2% @808,

5OV SWISIEV W To

=5x +2x=7x

7x=63 x= 9a%H



Tesdw, P Hoblyen = 45, 18
9 0¥ Soogs a0 HADyen
=45+9:18+9

=54:27

=2:1

Q.30) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.31) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.32) Explanation:
D VOB WPBOIT o“qciaeﬁ 950808 230 en 808 wzPEosT Er8°)Q Gotrow.
e
s PES/SE,
D00

5o
B

€34))

3 8°80S° Er8° )08 88 HIOPAE AELH VK &0e00s.

Q.33) Explanation:

2 ©0F°L WIPEOMT )R wseB0d’ eodHyen 80d BSB0S® ErE)D Goeran.



I"Fd(f}jrfﬂéé
PES/SS,

2000
hgo
and
€35)

8%, & en 28088 es0om.

Q.34) Explanation:
D WOB® WPBOIT o“xﬁ)?ﬁ 950808 20 Hen 80 ezeBoS® Er8°\Q €s0eon.

HoB

b
e33)

H068 LI BB Tor MESeS® 28 &otnod.

Q.35) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.36) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.37) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.38) Explanation:



S hsees B 8S° Lty S, 45, @ 8S° $8 E. 82, aren b &r. 24 S°8Dé§. TP
B8 23 B, TS Gowed.

H &ozees oednd &858 g . 84, P 8 8. 25 @99&0d. S'°83¢§ £580.

O SHzeearedred Hed dren 8. 23, e &e. 42, Trg &°. 86 095080, 2 Ko
$0Hen T I8 edsedo 8.

Q.39) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.40) Explanation:

. e dndo
mﬁu?ﬁumﬁ
{41+ 39+ 52+ 48+ 54+ 62+ 46+ 52+ 40+ 96+ 42+ 0+98+ 60+52)
15
= % =534
15

Q.41) Explanation:
-4.6x-4.6 = 21.16

-4.6 + 0.6 =-4

_Mz —5.29

4

Q.42) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.43) Explanation:
[Solution 45 &. IFo &8 = &e. 60%

1 g‘b@g ESQO CS&S = g




415

_3 2 2T 45l
4% 2 2

Q.44) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.45) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.46) Explanation:

@0l ©FT O HBD Hogge® S
X=24,B=2,E=5
R—18,I-9, N —>14,G—> 7
18 + 9+ 14 +7 =48

Q.47) Explanation:

BotH S D Somgen X, X + 2

x(x +2) =399

x2 + 2% - 399 = 0

x% +21x - 19x - 399 = 0
x(x+21)-19(x+21)=0

x-19=0 x +21=0

x =19 x=-21

NS Qoggen IR Yot A NS Qogg = 19



Q.48) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.49) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.50) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.51) Explanation:

P BOB0 = e
25-20 100

_ 2 100 = 25%
20

Q.52) Explanation:
5205 §%) 88 = &r. 100 950508

S068 55 = 100 +20 = &=, 120

12[:|><—I:|:
BIR) 06 $TvsE a0y B
- 120-6=114

T3R8 FPod erdl BB

114—@><100 =14%
100

Q.53) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.54) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.55) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.56) Explanation:
[Solution|P = &». 7500

P=12%
t=22 =21
123

2
7500 1+i 1+ :
25 25%3

2
_ 7500 22 [ 1+ L
05 25
—7500% 20528 .25 _ g 784 30

CL=ALP

- 9,784.32 - 7500
= 2,284.32

- §2.2,284

Q.57) Explanation:
Seordth Jrghen S Fobd Srdye Fwgo



=68 +65+69+70=272

“ “
QTeO0
_2I2_ o

2P86° OO Ertne Fodo
=65+75+70+65=275

N

(012418)
= ? = 68.75

Q.58) Explanation:

DRy e &0

=80 + 85 + 88 + 87 = 340
Qoog By ey €0

=75+ 80+ 82 + 78 =315
340 - 315 =25

Q.59) Explanation:
Q03rS o Sednen = 75 + 80 + 65 + 68 + 72 + 65 = 425

8 Ingo drdyen =80 + 85+ 75 + 65+ 70 + 70 = 445
B3e) &0 rdyen = 82+ 88+ 70 + 69 + 71 + 70 = 450
3o JwBo Srdyen = 78 + 87 + 65+ 70 + 75 + 74 = 449

CL By D8N Sednyen Srofod.

Q.60) Explanation:
cosO + sin® = m———(i)

secO + cosec O = n



1 1
+— =t
cosd sind

sin B+ cosd .
sin 8
sin6 + cosO = nsin® cos® ———(ii)

1, 11® Hod

m = nsinO cosO

i .
— =zin Beoos g
1

Q.61) Explanation:

O" &0

P8,5°€5?3N

Q.62) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.63) Explanation:

(X+Y +Z)oadterdd |

X &é& Sher $H 1



Y&é&ﬁ’wéﬁ 1
Z&é@stéED:(gg+Y+Z)®&é8gwéﬁ) —(Y+Z)@&;§8583°63@

10 8

T120 180 180 90
~Ze8)a © HAIV 90 8%’ 30 BI.

Q.64) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.65) Explanation:

sif g +1+|:05EI 3 sin2+(1+|:os 5)2
I+cosd  sing (14+cos@)sin g

(sin29 + cos?0 =1)

sin®+1% +ros? B+2cos B
{(14+cosTsind

sin +cost84+1+2cosd
(14+cos8sn g

_ 14+1+2c0s8 24+ 2cosd
(I4+cosGising  (1+costsin ©

_ 2(1+ceosd) 2
(1+cosdsing  sind

Q.66) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.67) Explanation:



Multiple Choice Type Question: ** Explanation Not Available **

Q.68) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.69) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.70) Explanation:

3ot @o8w Hogy = Xy ©nsod.
®08® Jw&o = 9
X +y=9—(i)
dogd® .8ty PH0S° @08 = y
e ‘5(;260@3‘9 08 = 10x
Qogg == 10x +y
@080 ST Bobhre
=10y + x
O +y+27 =10y +x
Ox + 27 = 9y
Ox - 9y = -27
X -y = - 3———(ii)
1, 11® oW
X+y=9
X-y=-3
2x =6



y=9-3=6

Qogg = 36

Q.71) Explanation:
1,4,9, 16, 25, 36...050 endre

13+1=14
14 +4 =18
18 +9=27
27 +16 =43

Q.72) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.73) Explanation:
B2H2208%0 QA Sere Indo = 180°-55°=125°
3otHh Sere J&e 3wdo = 9 + 16 = 25

S0 a0 9
- Exlzﬂ‘jz 450

So&® &0 16
=E><125°=80°

Q.74) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.75) Explanation:

D VB0 PBOMT B0 eSTPADOo=

= 360,000



B0&% 808t o =120°

308 P80 SO = 120°

® 360,000 =120000
3607

Q.76) Explanation:
HOUS E

-1-1+46 +6 -1
GNYDR
GI ARY
-1-1+46 +6 -1
CHG X X

Q.77) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.78) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.79) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.80) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.81) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.82) Explanation:

§ 18 80 _ 926 Se hd 26

12 26 52 13 18 90 90 45
Q.83) Explanation:

]
=2 F-32)

0=2(F-32)

F-32-0

F =32°

Q.84) Explanation:
SHELF

FURYS

80l ©FBEITe ePSorv
ABCDEFGHI J KLM
NOPQRSTUVWXYZ
Z EB RA

MROEN

Q.85) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.86) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.87) Explanation:



Multiple Choice Type Question: ** Explanation Not Available **

Q.88) Explanation:
S%en 8838w Beren

6(M;) 96(W,) 16(Dy)
8(Mz) ?2(W2) 4(D)
M, D;W,= M,D, W,
6x16xWo= 8x4x96

=8><4><96 _35
166

2

Q.89) Explanation:
2:550 JoSt ScirEonsd 2e0ye0

=18,58,509

EN0 Jo J0tH B PEoNS enyen  18,58,509
7623

18,66,132

30 Fo Do SATEoNS eyen 1866132
25,338

Ao 3306° Basrdans venen =18:58:509 + 18,66,132+18,40,294=55,64,935

Q.90) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.91) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.92) Explanation:



Mango,lemon amd melon are

4 3 9 5 6

fruits

1

Mango and lemon are Yellow

4 9 3 6 O

Melon is green

5 8 7

3 L& 08 $08 melon @3B 5 K EredoSHKy

Q.93) Explanation:
AIQ, BJR, CLS, DLT.........

A I Q
+1 +1 +1
B J R

+1 +1 +1

C K S

+1 +1 +1
D LT
+1 +1 +1
E M U

Q.94) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.95) Explanation:

W WD g

.h:ij/; WORLD TRADE

-'/r, ORGANIZATION

4oms  AboutWTD  Newsasdewnn  Tradetoplcs  WTOmembsnhip  Documesty dets s rescwsrces

WG and you

Afghanistan to become 164th WTO member

on 29 July 2016

Q.96) Explanation:

P = 5000 &»
R = 8%
T =2 Jo.
S (S.L) =
o ( ) I;EDR:mD?;DBXEZBDDD
58 96 (CL) = S

2 2
50000 1+—|[ — 5000
100

9 2
50000 1+— | —5000
25

2
5000 E] = 5000

25

= 5000 xgxg—ﬁﬂﬂ

_ 5832%2 5000 = 57.832

SESE - erhSd = 832- 800 = &w. 32



Q.97) Explanation:
= 12- [26 -{253}]

= 12-[26 -{2 +15)}]
= 12-[26 - 17]
=12-9=3

Q.98) Explanation:
42 $.=42,000 0.

SOy Heen

= 42000
280

=150

Q.99) Explanation:
B0 HBJ OO Joggen = 2x, 2x + 2

8., = 144

2%, 2x+2 © K. Jo.gr. = 2
E.R.00. x .30.47. = Botd Jowse ©wo
2x (2x +2) =2 x 144
x(2x + 2) = 144

2x% +2x - 144 =0

x> +x-72=0
x?+9x-8x-72=0
x(x+9)-8(x+9)=0
x(x +9)(x-8)=0
(x+9)(x-8)=0



X = 8 ©®ond
& HB0 Joggen =2 x 8 =16
2x +2=2(8)+2=18

Q.100) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



